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7 100kN/m##8x5 | 1.00 | 000 ~ 221 134.33 |3mZ#BAB| — ~ — — — | 100kN/ %825 | 1.00 | 1059 ~ 2000| 13433 |3m&E#Z5 - ~ — — —
s 1.00 | 221 ~ 999 100.00 | =0t | 0.00 ~ 9.99 | 2.64 14.14 s 1.00 | 6.00 ~ 1059 100.00 | =nLst | 6.00 ~ 2000 2.64 14.14
2 100kN/m%E#8z5 | 1.00 | 000 ~ 0.03| 10040 |3mE#BzB| — ~ — — — | 100kN/ %825 | 1.00 | 1053 ~ 1060| 100.40 |3mE#Z5 - ~ — — —
s 1.00 | 003 ~ 781 100.00 | =nhst | 000 ~ 781|218 11.67 ThList 1.00 | 6.00 ~ 1053 100.00 | =4 | 6.00 ~ 1060 2.18 11.67
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 753 96.32 | #nLS | 000 ~ 753 2.26 12.08 ThList 1.00 | 6.00 ~ 10.00 96.32 | =nLS | 6,00 ~ 1000| 2.26 12.08
4 100kN/m%E#8z5 | 1.00 | 000 ~ 026 10382 |3mx#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 11.09 ~ 11.80| 103.82 |3m&E#Z5 - ~ — — —
s 1.00 | 0.26 ~ 804 100.00 | =nst | 0.00 ~ 804 | 2.36 12.65 ThList 1.00 | 6.00 ~ 11.09 100.00 | =4 | 6.00 ~ 1180 2.56 12.65
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
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3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhLlst 1.00 | 000 ~ 478 59.51 | #hst | 000 ~ 478 1.72 9.23 ZFhst 1.00| 5.00 ~ 5.00 59.61 | Ths | 5.00 ~ 500 1.72 9.23
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 7.00 8873 | #=hst 000 ~ 700|177 9.47 ZFhst 100|500 ~ 870 8873 | Ths | 500 ~ 870 1.77 9.47
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 0.o0 ~ 757 96.90 | =nLs | 000 ~ 757|216 11.58 ZhLst 1.00 | 6.00 ~ 10.00 96.90 | #hst | 5,00 ~ 1000|216 11.58
11 100kN/m##82% | 1.00 | 0.00 ~ 0.01 100.22 |3mZEEBASH| — ~ — — — | 100kN/ %825 | 1.00 | 1056 ~ 1060| 100.22 |3m%E#ZS - ~ — — —
ZhLlst 100001 ~ 780\ 100.00| FhLs | 0oo ~ 780\ 2.15 11.50 zhLlst 1.00 | 6.00 ~ 1056 100.00| FnLst | 5,00 ~ 1060)] 2.15 11.50
12 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 000 ~ 744 94.98 | =hLs | 000 ~ 744 1.97 10.54 ZhLst 1.00 | 6.00 ~ 10.79 94.98 | =nhst | .00 ~ 1079 1.97 10.54
13 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/mM%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhLlst 1.00 | 000 ~ 548 68.40 | FnLS | 000 ~ 548 1.74 9.31 ZFhst 1.00| 5.00 ~ 6.00 68.40 | Tnst | 500 ~ 6.00| 1.74 9.81
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




